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https://vizier.u-strasbg.fr/viz-bin/VizieR-3?-source=J/other/Ap/64
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[12] − [25] = 2.5 ∗ 𝐿𝑜𝑔
𝐹(25)

𝐹(12)
               (3.1)

[25] − [60] = 2.5 ∗ 𝐿𝑜𝑔
𝐹(60)

𝐹(25)
                (3.2)
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http://vizier.u-strasbg.fr/viz-bin/VizieR/


48 
 





49 
 

 

 

𝑇𝑒𝑓𝑓 =
7070

[(𝐽 − 𝐾) + 0.88]
                              (3.3)
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𝐿𝑜𝑔(Ṁ
𝑡𝑜𝑡𝑎𝑙 

) = −7.668 + 0.7305(𝐾 − [12]) − 5.398 ∗ 10−2 + (𝐾 − [12])2 + 1.343

∗ 10−3(𝐾 − [12])3                                                                                                    (3.4) 

[12] = 3.63 − 2.5 ∗ 𝐿𝑜𝑔𝐹(12)                                                                            (3.5) 

𝐿𝑜𝑔Ṁ = (4.08 ± 0.41) ∗ 𝐿𝑜𝑔𝑃 − (16.541.1)                                              (3.6) 
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 Ṁ  Ṁ
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𝑀𝐺 = 𝐺 − 5𝐿𝑜𝑔(𝑟) + 5 − 𝐴𝐺              (4.1)
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𝑉𝑡 = 4.74 ∗ 𝜇/𝜋                                                                     (4.2)

𝑉𝑡
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𝑊𝐾,𝐽−𝐾𝑠
= 𝐾𝑠 − 0.686(𝐽 − 𝐾𝑠)            (4.3)

𝑊𝑅𝑃,𝐵𝑃−𝑅𝑃 =  𝐺𝑅𝑃 − 1.3(𝐺𝐵𝑃 − 𝐺𝑅𝑃)  ( 4.4)
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http://skydot.lanl.gov/nsvs.php


77 
 

𝛿



78 
 

 

 
 



79 
 

 



80 
 



81 
 



82 
 

 
 



83 
 



84 
 

⨀



85 
 



86 
 

⨀



87 
 

 

 

 

𝑀𝑘 = −3.56 ∗ 𝐿𝑜𝑔𝑃 + 1.14                     (σ = 0.26mag)       (5.1) 

․

𝑀𝑘 = −1.34 ∗ (0.06) ∗ 𝐿𝑜𝑔𝑃 − 4.5(0.35)                          (5.2)
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𝑀(𝐾) = −3.69 ∗ (𝐿𝑜𝑔𝑃 − 2.38) − 7.33            (5.3)
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